Geo  Weekly Review: 4/27 to 4/30 Friday, May 1, 2020
Round answers to the nearest hundredth unless noted otherwise. The center in each circle is pt K.
- For 1-4 assume that lines that appear tangent to a circle are actually tangent.
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b) Find the Iength of BR if the radius of K = 7
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Find the measure of Central Angle /_AKC if m/ ABC = 42°
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3. Use the given information to determine

if EF tangent to ©K. Give a reason. EE I -Tt(v\gé"\+ "“\5 i /B ¢
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Find the perimeter of ABCD.
Pts P, Q, R, & S are pts of tangency. R
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Find the measure of PR.
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+heredore Ap  bisects ched EF
Diameter 4B is perpendicular to — 7 e © il >
chord EF at pt Q. If the radius of /¢
the circle is 13 and EF = 24, find
the Iength of KQ
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9. 4B is a diameter. R
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Find the measure of SN / mSN = 86 ° {
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Find the measure of inscribed Z PBR. ELPBR - 772°
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Find the measure of /. ACB CB = ’2-6]
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